Name:  _____________________________ (please print)
Signature: __________________________
ECE 2202 – Quiz #3
March 28, 2019

Keep this quiz closed and face up until you are told to begin.

1.  This quiz is closed book, closed notes.  You may use one 8.5” x 11” crib sheet, or its equivalent.
2.  Show all work on these pages.  Show all work necessary to complete the problem.  A solution without the appropriate work shown will receive no credit.  A solution which is not given in a reasonable order will lose credit.
3.  It is assumed that your work will begin on the same page as the problem statement.  If you choose to begin your work on another page, you must indicate this on the page with the problem statement, with a clear indication of where the work can be found.  If your work continues on to another page, indicate clearly where your work can be found.  Failure to indicate this clearly will result in a loss of credit.  
4.  Show all units in solutions, intermediate results, and figures.  Units in the quiz will be included between square brackets.
5.  Do not use red ink.  Do not use red pencil.
6.  You will have 30 minutes to work on this quiz.     

________________/20


The switch has been at location a for a long time before it switch to location b at t=0, at t =1 [mS], it switch back to location a. The energy stored in inductor  at t=0 was zero. Use the circuit below to solve:
a) Please find  for  
b) Please find .
c) Energy stored in  at .

 [image: ]

Room for extra work
[image: ]

[bookmark: _GoBack][image: ]

Room for extra work
image1.emf
-

+

4.4 

[k



]

b

a

SW1

t=0

t=1[mS]

1  [k



]

10  [V]

2.2[k



] 1.5[k



]

L

1

=

2[H]

L

2

=

3[H]

L

3

=

7[H]

5.6[k



]

10 

[mA]

i

L2

i

L3


oleObject1.bin
2.2[k]


13[A]


+


-


7[V]


LX =  3.3[mH]


-


+



image2.png
Sv‘acn\wms’rwJ Wl @t=0 4s p.
(3w =0

QJNM&N 0 <t< |fns)
R = 5, X =(0
2 sqk/g;aﬂm o)

ol S
Zaab) Ry TS

S-S S ; -, L4 F/‘L
»l/hm - g“ﬂ‘/\} (b.ss lo(m/a < 5.5@%}%—4@5
‘ é L £ )
46 SR 7 9708) o ogt< i)

froogtg lb?sj

s 5= 4t A = -3 34 i)

= —aa@d) +4a () €: 21851





image3.png
Redvaw -iwo< < (] left pet araw:l

()
Vsl 59)
Shnee Civeart has been 'M»/L‘fv‘/ﬂr Lime.
b OB oy = — 1200 ([
O (FS)= qualo) = ErRREA m %&ﬂ*ﬂ
M!m'{ﬁ t>v[53

l {X “‘%“) )

L% (+3)r1 = 291114
Reg = 2.l LsTAY/1@n) = 2. g
r-= @% 3—7% 04

e l1B)= MM%& (B0 = 1438 - 334 = 1.9 o]
Lw;ﬁ - lopy

S B g - 43 )

heylt = 1 a3 4 (- 19164 u;m)cvw foe t;,@g

Q%(f}—z%%%%i Mym(ssAM)@/“‘M s
:%w)@"" T e t2154)

o))




image4.png
s 21
Room for extra work — B

Bmé Vaey buk" o o -
of V'
“uu 3

lio= 4= 7m g V»%"Wf + tu((m))
t
:~|58M o T 15y T334 o)
Ll -
== 13304 e Y iy

igm: {\441"41‘*4“454]@ T forpsts
138 ¢ To0s i)

I [ms)

ey 2 1)
foto- &g (* M%rtwﬁé@u@n)

=-l T-oag N
74@4\\»@/ i) g TIe ot

= =[S 4] 3
W;ufw+ LA

luty= Loty |
lu )= faiw = 355@/@

e




